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1. The timé clupssd between viewing o

lighming flash and hearing the thunder
of & cloud s 10 & If the speeds of
soind and light in air are 330 m/s and

3w 10" m/u respectively, how {ar away
s the nlorm?

fg) About 1650 m
b About 3300 m
fe) About 990 m

{cf] About 1000 m

2. What is the approximate wavelength of

violet Tight in air?
faj ©7 pm
b O pm
fj 05 ym

fd} 04 pm

3. Which electromagnetic rdiatlon(n) ia/are

used 10 cook food?

j) Infrared radistion only

) Microwsve mdintion only

f)  Infrared and microwave rmdiatbons

fd) All electromagnetic radiations
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4. An abject in placed 10 cm in front of

a lena, The image formed s real,
inverted and of same aize &a e olject
What in the focal length and nuture of
the lena?

fa) 5 cm, converging
B 10 om, diverging
fo) 20 cm, converging

fd) 20 cm, divenging

8. Which one of the following ststemenis

with regard to a short-aighted peraon ia
carrect?

fal A short-sighted person sees the
near objects blurred but distant
objects clearly and a convex Jens
in uned tn corvecl thin defect.

M A short-sighied person secs the
near objects clearly bhut distant
objects blurred and a concave lena
in used to correct this defect.

fel A short-ughted person sees the
near objects blurred but distant
objects clearly and &5 concave lena
is used to correct this defect.

fd} A shori-sighted person sees the
near objects clearly bt distant
ohjects bhirred snd a convex lenn
is used to correct this defect
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6. Which one of the fallowing organclles is

net found in animal cells?
fo) Ce=ll membrane

(b Endoplasmic reticulum
fef Cell wall

jd} Lysosome

7. Which one of the following plant tissues

han large air apaces?

fa) Sclerenchyma

) Merintem

fer  Collenchyma

id] -Asrenchyma

8. Which one of the following is not a

connective tisss?

fa) Ligament

i} Tendon

fo) Smooth mupcle

{d) Cartilage
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9. Which one of the followlng crganisms

belongs to the kingdom Monera?
fe)  Dimtom

b} Euglena

fel Anabuena

jd) Ulsthrix

10. Which one of the following diseanes does

net tmnamit through fine dropleis
coming out from mouth or nose of an
infected person?

fi}  PrEumonia
bl COVID-18
fel  HIV-AIDS

fd} Tuberculosis

11, Which ons of the following s not

a breakdown product of glucose during
rfespiration?

ez}  Ethanal
b’ Lactc asid
fc)] Water

fed]  Methanol
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12. Which ane of the following Is an example

af endothermic reaction?

faj Cais)+Hi0O0) ~» Cafdkyfag

ﬂlj Cally s -ii:lﬂ-flf-l‘ﬂﬂ:w

fo) Cid =Dl — COE)

() CH{ W+ 204 ) — CO e + 2H;00)

13. Packets of potato chips mre usually

flushed with whinh one of the following
gases to prevent mncidity?

ju) Carbon dioxide
B} Hydrogen
fe) Nitregen

fd] Oxvgen

14. According to early Indinn philosophers,

what are the basic slements described
in Pomcha Todtie @

fa) Earth, Fire, Sky, Gas and Water
fir) Air, Barth; Fire, Siy and Witer
fe) Gan, Land, Fire, Sky and Water

il Air, Earth, Fire, Land and Water
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15. A millonen sdds n emall amount of

baking soda to mille, This makes the pH
of the milk

fm) strongly alkaline
(bj weakdy alkaline
fe)  wirongly acidic
fdl  wenldy acadic

16. Which ane af the following metal oxides

doca nof usually reaet with sodium
hydroaxide?

fu) Copper oxide
M Aluminium oxide
fej Potessium oxide

i} Calohum oxide

17. When  ecaleium  meml  reacts with

sulphurie acid, the resction stopa sfier
a short while. Why?

fa) The reaction of calclum  with
nulphurie acid'is not feasible at
room lemperniure

fb) Formed calelum sulphate  is
insoluble in water and covers the
ealcium metal, proventing i from
rencting any further

fe) Parmed caloium salphate requires
two molectiles of waler {0/ cryntallize

aAs EYRSUM

jd] Formed calcium sulphate s
unHalibe
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18. When s white light beam is made to fall 20. Which ono among the following is not
on ‘a holiow prism fllod with water, o luminous olject?
it breaks into seven constituent onloure.
Which of the following colours suffers {6} Bun
the maximum angie of deviation?

M Proxima Centaurd

fa) Red
o) Jupiter
) Vieter
{d) Alpha Centmur
fe} Oreen
fdl All wulfer by equal’ ameunt of 21, Let an electric current of 15 A fow
deviation through an  incandescent lamp in
a circwit. What is the amount of charge
that flows through it in 10 ma?
19, The following figure shows the image of f) 0015 C
& clock In n pline mirror ©
bl 15 C
fe) 1'5C
[ 15C
Which one of the following is the cofrect
Hme? 23. Which one among the follvwing is not
a rencwable energy source?
2:35
fal o) Salar
) 345 {b) Wind
el S15 fe) MNuclear
() 925 fe}  Hydroelectric
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23. Which one of the following is not

a funstien of chigrophyll?

fa) Splitting of water

fi} Absorption of photon

f¢) Oxidation of carbohydrate

fd) Conversion of lHght energy into
themionl energy ;

24. Which one of the lollowing siatements

sbout life processes In  single-celled
organisms is nat correct?

fa). They require deparmste orgen for
food upiake.

i) H:n-_ptmle orEnn s not needed for
[ﬂm‘- 3 I-I

fe) Waste of excretory malerial is
produced by these organiama.

fdl They reman i conisct with
externil snvironmeni.

28. Which one of the following organdsms

doea mot poasesn notochord at any
stage of its life cycle?

fa) Holothuria
iy Herdimamin
o) Exncoetus

fdj Salamander

JNME-F-BGS/6TA
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26. Which one of the following pairs is not

correcily matched?

fa) Positively phototropic: Shoot

) Positively geotropic  : Root

fe/ Chemotropic : Pollen tube
fd} Hydrotropic i Flower

27. Which one of the lollowing metals does

not react with oxygen, water ar acids?
fal N
b Cu
o Fe
{d) Au

28. Which onc of the following meials

produces hydrogen with cold water?
fa}  Silver

) Sedium

fe} Copper

fd} Tron

29, Manganese i eitracted by healing

mangancse dioxkde with aluminmum
powder. Which one of the hilowing
statemonts with regard to the reaction is
carreet?

The resction is exothermic,
The reaction s endothermic,
Manganese is prodoced es a solid,

Mangancse i more renctive than
aliminium.

E2 2 Z
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decreasen aoross the periodic table from
left to right and increases from op 1
botiom?

fal lomiantion energy
(b 'Etectron affinity

fel Electronegativity

) stomic radius

31. Which one of the following statements

about production poasihility frontier ia
nof correct?

fa) The production possibility frontier
slopes dowrnwards to the right as
the resources are Umited

b The different combinations of
variaus goods and services given
the available resources and
technalogy are denoted by the
producton possibility fontier.

fe] Any point omn or inside the
production possibility frontier is
attainable under the cxsting
technology and resources.

() On the production posnibility
frontler, the output of one
commodity oan  be  increased
without changing the output of
another eommodily,

JHME-F-BGS/6TA
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22. How in the magnitide of prive slasticity

for an individual good determined?

1. Bw the degree o which the good in
a8 necessify or hixary

2. By the exient io which subsiitules
nre avaikable

3 By the rate of income growth (n
the econemy

4. By the relative impormnce of the
jood in the conaumer’s hudget

Scleet the correct answer using the code
given helow,

fa) 1.2 and 3

fio} 1 and 4 only

fe} 1.2 and 4

fel)] 3 umal 4

33. Which one of the following lunctions as

N aulomatic stabilimer n the context

of fiscal and monetary policies of an
sCanamy?

fa) Personal income tax
) Reverse repo mate of bank
(el Open market operaton

fd) Bond price

34. Broadly both birth and death rates are

low in which one of the following stages
of demographic tranaition model?

fal High stationary stege
() Early expanding stage
fei Late expanding siage
fd) Low stationary stage
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38, Whith ane of the following is a pull factor 40, Most of the mature Hamppan sites in

for migrathon? the region of Cholistan had beesn
da) Naturnl disnster nbandoned duaring

b High wage fa) C. 2250 BCE

fe) Housing shortage

) Low M C. 2000 BCE

fef €. 1800 BCE
36. What 1 the depression at the top of
a volcano following a volcanie eruption M) C. 1700 BCE
callsd?
o e 41. Modhyamika Kanka, the basic teat of
(b Vem Madhyamika Schoal, wis campeosed by
fel Cinder _
) Crater fal  Magarjun
b} Amangn
37. In order to find out the abealute location
of & place on the map, which of the (el Vasubandbu
following will be required? {d} Dharesakirt
fa) Latitiade of the place alone
fy] Longitude of the place nlone .
frl Both latitude and longitude of the ﬂ-%ithmnf:hnmuuw{n;_;-lnur
place authars and Sanakrit lbemry works is
(d) Meither latitude nor longitude of s S
the place faj Somadeva : Kothasaritsogar
38. The speed of the wind is measured by ) Ashvaghosha : Buddhochonia
fa) wand vane fe) Bilhana : Vikremean kodeto-
i) wind rose charita
9 . ) Kalidana 1 Vasowmadatia
{d] Enemometer
39. h_th-dm ﬂiﬂ'v::mth:: ;iﬂ 43. In the Mathura School of Art, Buddha's
when the old meander is closed off by
ﬂﬂpﬂﬂ-_inq'l‘i' fe) Dhyana Mudes
fa) Pothole ib)  Abhaya Mudm
{4 Levee
fdl Fiood plain fd) Varmds Mudma
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44, The Mauryan capital of Pataliputra has

be=en associated with the archacoalogical
rermaing of

foj Rulandibagh and Rajagriha
B Kuarmrahar and Mochanm
fof Kumrahar and Bulandibagh
fd} Kummahar and Jalalgarh

45. The Satwvahanas are identified in the

Puranan by which one of the following
epithets?

fa} Andhras
() Shikes
fe) Kshatrapas
(d] Hungas

48. Which one of the f[ollowing powers of

the Supreme Courl is also conferred
an a High Court?

() Advisory power

fbl Power of doing complete justice in
any causo or matier pending before
the coun

fe)  Pawer of eourt of record

fd] Power to allow/refuse Special Leave
Petitions

. The Cormtitution of India doss not
guarantes which one of the follewing as
n fundamental; right?

(o) Right to equality
) Right against exploltation
fel Raght to property

] Right to carry on trade and
buninesa

JNME-F-BGB/6TA
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48. Which one of the following statements

about the Supreme Court is not correct?

fe) Under Article 129 and Articls 144
of the Constitution of India, the
Supreme Court has been vested
with power to punish for contempt
af court.

(4 The Supreme Couri has been
vested with advisory jurisdiction.

fc The Supreme Court may refuse io
provide opinion to the President, if
»o asked, in cortain circumatances.

id) Law declured by the Supreme
Court s binding on all ecourts
within the territocy of India.

49. Which one of the following stalemenis

about Public Accounta Commitics is

correct?

fa} The Committes consists of hot
more then 15 members from the
Lok Sabha arcd 10 membern from
the Rajyas Sabha

fb) The Finance Minister is an ex officio
membier of the Committes.

fe) A member of the Commiltee in
given: & lerm for one year.

(]l The term of the office of the
members of the Committee from
the Rajyn Sabha s extended
even when they retire from the

B0. Who can be appointed as a Judge of the

Supreme Court?

fa) An advocate who has practiesd for
at least ten years in any court

{b) A Judge of a High Count for at leant
three years

e} A distinguished jurist i the
opinion of the President of India

fel] A person who has held & jusicial
office for at least fifteen yoars

| BTiO,



Bl u% Wi fion =9 g & s e oW

TR T e
=me T b

fal 2 cm
b} 6 cm
fel 4 em

fd} 1 em

53, A #ht B 9 wiw sw W 710 8

T W W s 2 3R A g R
e = 1,000 i v wm Y, @ &
&1 wiflew s Fi?

fal ¥ 9,000
(bl ¥ 10,000
fe) ¥ 15,000

jdi & 12,000

83, dﬂ!ﬂiﬁlhmhﬂﬂﬁ:nﬁaiw

W Ewd §1 B st C oo e wh SRR
30 79 3 @ o owwd k) ofd A s o
TR R M ETpwT @A
CEnRETER R Bk n B Rk

fa) 353 T
) 371fe
e 3a2fA
fd) 334 fa
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§4. U ¥z wiwE § o g ehw b ik up e

Al % A v w d w b, Ao
i e g 1wk e Al

fa} 127§
) 1234 52
fei’ 1372
fd) 13109

55, wiz Ml ol & wpen o HEm 3, @ and o

1 wreh sl e R pm?
fer) TR
by s
fe) TR
()

86, Feafnfn v & & W of aff by

fo) Wa spdsmEEn A FiE W ow 3ed e a
ot M, W i § g w8

by W g T wEge oot b ooleds
M oM R (W) 3 oW
Hafl (W) wm B o=@ 8, @
HrTEAE G g e b

fe) = 4 Bl 5 hoewEn i
wiramls w1 R

fdy oot ) Teei 6 it Wl =
TR F P



51. Bight metallic balls of one centmetre

radius each are melted mto one ball
The diameter of the new ball is

fa) 2ecm
bl Goom
fel % em
i) 1 cm

B2, The ratlo of monthly incomes of A and B

in 7:10. The ratio of their expenditures
in2; & I each of A and 5 saves F 1,000
per month, then what will be the
monthly income of 87

fa) ¥9,000
) *10,000
je) ¥15,000
) #12,000

53. A md B together can finish a job in

20 days. B and C together can finish
the same job in 30 days. If A and C
togather can finish it in 34 days, in how
muny days can A nlona finish the job?

fa) 353 duys
i) 374 days

() 34§ dayn

idj 33; davs

JHNME-P-BGS/ETA
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§6. Which one among Cthe

B4. A tree in Bt present 9 fect wall If every

year it grows Jth of its height, what
will be the helght of the tres after
thios years?

() 12 foet
] 12:34 feet
(e 13 foey

() 13:10 faet

88. If first March of a vear is Sunday, which

day will be the frat February of the
next yenr?

faj Friday
b Tucsaday
fo Saturday

fd) Monday

following
statements in not correct?

ja} When the sconomy grows siowly

than its potential, the
unemployment rate riscs

fb Structuml employment occurs
when joba amre ehminated by
changes in demand for parbicular
goods or due to automation.

{¢) Recession in the economy leads to
cyclical unemplovment

fd) At full employment, the messured
unemployment mte is oegative.

[P1.0.



57, T W =1 wet A, fiwd sl awn

i, TR W EER T, G SR TOw
T I AR @ i B

fa) S8 ST

() HEeR e

68. Tl ot < W g % we F weam By el &

i, 3 P & &t - fadiard 70
i

I Talmm wlem & ool & wo 8§ 5
Eite ]

2. Fiuw zgn 04 ¥ g e ek
3, R i wam & faafaa dm Wi
4. Wi wm T g E e

A fim e g w1 w0l i
fa) 1, 254
bl ¥ 2.3t 3
fed L, 2¥Ra

) 1, 3 ¥4
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89, 7 2009-10 A 201810 & fm wwm wfir

T (e dhe we) ¥ dwe-m 5w
!ﬁ‘minﬂiﬁ-a‘lumihﬂm
i fet A g g b B A 2 e
witrra ghe 7 &7

fa) A, W, g o s awifim
Al

(bj =R, FReE, e, R el v
T

fef T T, s s

(ef) T, wow swn (wls-ames) s
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60, T e & sm v, anfemog 9

v % deed § frnfEm fem w27
) FTTER A awETE fe

oy Tl s adain e

fe) R A . e

) watew, fidtas o wles d

61. frfefm & & 9h9-m oawfE wwem =7

T A n

fa) wrEE e
fb) ™ e
fe) =W

(et} s



&T7. The smount by which the eguilibrium

level of reml GDP exceeds the Tull
emplovment level of GDP is called

fa)  Tecessionacy gap
B inflationery gap
fe] income multiplier

fef) mutomatic stabilirer

58. For anything to be recognized as money,

it needs to have which of the fellowing
chamcteristics?

1. At ms an intermediate in the
exchange process

2. Standard unit for quofing prices
3, Must be ensdly divisihle

4, Hmve higher value in alternative
uses

Select the correct answer using the code
given below,

f) 1,2 and 4
M 2 and 3 anly
e} 1,2 and 3

il 1.3 and 4

JHME-F-BGS/6TA

B9. Tha aectoral ahares of Gross Value Added

{GVA) for the year 2008-10 v 2018-19
show that the share of service secior
in GVA in India has increased over the
yeurs. Which among the following have
drven the msimum jncrease?

fa) Electricity, gas, water supply and
other utility services

& Trade, hioted, transport,
communication nnd BETVI(ES
related o broadcasting

fe) Public sdministration, defence and
other servicea

(d) Financial, real estute  and
profeaslonal s=rvicos

60, On the basis of employment conditinns,

the economy ia divided into

fa)  organized and unotganized sectors
b private and public sectors

fej wemsonal and disguised sectors

fd) primary, secopdary asnd tertiary
sectors

61. Which one of the following is net a

type af chemioal weathering?
fa) Carbonation sclution
fb) Salt erystal growth

fo} Hydrolysis

fe} Oxidation

[PT.0.



62, -1 W - w e g S 64, ¥ swave ok wl B

et & 92 o W owm oW ow
W » 5 fa) i wém
f) TEE
w1 w11
(e k) (rw ey GBI
A TH 1, =g wiEfen fel) SToOTTER WRN
8. THAfine 2, i whER
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1. Rammz il T sl
2, Bipme
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&3. Match List-] with List-I1 and welset the &4, Where is Asan Conserviatiom HRessrve

comect answer using the cods glven located?
B S A fa) Himachal Pradesh
Lint-1 List-I o
{Fold Mountminj  (Country/ Continent) I, (P
A Ural 1. South America fc) Sikdm

B. Appalachians 2. South Africa fd} Aranachal Pradesh

C. Drakensberg 3. Russia
D. Andes 4. North Americs 66. Comnider the following statements .
Coade - 1. The early Sikh Gurus were religious
) promchers and did not interfere in
politics but GQuru Arjan extended

WA B S, D his good, wishen for the rebe} prince
- | 2 4 1 Yhtiaren.
e A B c D 2. Quru Aran aitempted o orgenize
s 4 4 1 the finances by introducing the
QA B, C B aystem of more or less compulsory
his agents called Masands.
A B C D
1 2 & 3 Which af the staiements ghven above
in/are correct?
83. Which ol the lollowing main typea of iron fa) 1 only
orea are found in India? @) 2 enly
e — fe) Both 1 and 2
% fel)  Meither 1 nor 2
1 Limodmite
4. Sidenite

66, Quib Minar was originally four-storied.

Select the cormect answer using the code
given tmlow.

a1 wod 2 only

b 2 and 4 only
fel 1,2 and 4
fd) 1 and 3

JNME-F-BOS/STA

Who among the following Delhi Sultans
raised the height to the structiure by
adding the fifth storey?

fa) Balban

®) Alauddin Khalji

fe)  Muhsmmad Tughleg
fd) Froz Shah Tughlag

[ PT.0.
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T0. Wi B =R W= w0 e ¥ Pt domia

T = Wi

fa) WA 3 el

b} - v i

e EW ST W AR
folf T W WY T

71. ‘tiw o & W & Beaffm wedl 3 @

F-30 o T BY
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= ThET wmE ¥ fen ol e
W @ Shem e W wfen tea
o A B
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2
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67. Which one of the following pairs of

Deccnn Bultanites and their respective
regionn in mof correctly matched?

fa) Mismm Shahis : Bijapur
b} Barid Shahis : Bidar
jo) Qutb Shahis : OColkonda
fd) Emad Shahis : Bamr

68. Conuider the following sistements

. Under Akbur, the system of Zabt
was established over a larpe ares
from Punjab to Awadh.

2. In the sevenieenth century Morih
India, the syntem of Zabt lost much
ground to the system of Kankut

Which of the sintemenis givan above
injare cormect?

{a) 1 only

(b} 2 only

&) Beth 1 and 2

fd] Neither | nor 2

69, Who among the following wamed

his colleagues that the Constituent
Assembly wan Reltish made and was
"surlong the Brtish plan as the Boitish
ahould le it o be worked out™?

ja) Bommnath Lahiri

b} B. R Ambedkar

fej Shynma Prusad Mulherjes
/] B. M. Rau

JNME-F-BGS/6TA

T0. Who smong the following (xes the dats

of electén of the Bpeaker of the

Lok Sabha?

ful The President of Indis

i) The Minister of Parlinmontary
Affairs

f¢ ‘The Secretary General of the Lok
‘Babhn

) The Deputy Speaker of the Lok
Sabha

T1. Which one of the fullowing sistements

nbout ‘personal liberty' in mot correct?

fa) Sinte docs nol have tho authorily
io deprive any person within the
territory of India  of hinfher
personal  liberty  without  any
rational basia.

() Basin of depriving a person of
his/her pernonal liberfy must be
entablished by lhw.

fe} Personal lberty can be secured by
the judicial writ of Habean Corpun.

(dj The majority view of the Supreme
Court in A, K Gopalon va. State of
Madras case invented due process
af law'

72. Which one of the following statements

with regnrd to the Directive Principlen

of Staic Policy Is net correct?

fa)  They are nol enferceable in n oourt
of lsw,

b} They onn  overnide all  the
fundamental ighia.

fe) They can be related to social and
COONAIMIC JuRiice.

{d] They can be related to giving free
legal aid.

| B.T0.



73, W ¥ fawE o e & e A Bl 76, fisl st e i A, e g s

W) A & W i b wegHl W 40% € ¥ 4 @ ra000
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fay 1% 2
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e %53 3
fd ¥ 2 T8, W W wesn v &, feed 1ooo0 WEd W
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78. A, Bsln C 3 wRa: P 7,000, F 8000 st
® 12,000 FEm =% st @iy fen v &) 139
r 3,200 fE 9 e A et Gl
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fef T21600  fdf 10800 Wl 83

JNME-F-BGS/6TA 26



structure of the Constitution of
bk

By Hssl, the Preamble is not
enforceable in & court of low,
The Suprems Court has held that
the Presmble cannotl be connidered
a8 an aid to the legal interpretation
of the Constitution, where the
language is ambignows.

2 3

74. The Ewctoml College for elocting the

President of India does mnot mohude

which of the following?

1, Al elected members of the Rajya
~Sabha

2 All elected members of the
Leginlative Assemblios of Stales

3 Al ‘members  of the Legisiative
Councils of States

Belect the correct mnawer uniryg tho code

gven below,

fe] 1 and 2

) 2 and3

fe) 3 oumly

fd) 2 amly

6. A, B and C start A Dbusiness by

investing ¥ 7,000, F8,000 and ¥ 12,000
respectively. After a year, B geta ©3,200
nn his share of profit. What is the total
profit?

fa) ¥ 16,600 fby ¥ 10,000

) ®ALE00 (@) P10,;800

JNME-E-BGS/6TA

T6. It n stock clearance sale, a shopkesper

gives 40% off on all his items. He inours
a loas of 25% by selling an item of
marked price 2,000, Which one of
the following is the cost price of this
item?

fa] 1,800
fle) ®1,200
fed  ¥1,600
fd) 1,400

T7. The avermge nge of Raj and his father is

45 years. If the ages of the father and
the grandfather of Ha] e reapectively
two end three times that of Raj. then the
age of Raj's grandfather s

fa) 75 years

% 90 years

fe] Bl years

fd) B4 years

TR, The mmalleat number which when

Edded to 10000 becomea divisible by
20, 24 and 30 i

fa) 120
(b} 8OO

fe] 80

fcf) 8O

[PT0,
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Frfiaiiam & 6 Faed o b7
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- sl @ Fdw T W= oW W
¥

i) 60
b 150
g 100
) 120

81, yaull i werE) & wom f aeh snes o
Tasaforfiga 4 9 farn sfieme 37

fa) ]
i) i)
) T
fely T

82, e = Wi 3 & fig wds ol el &
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T W A
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by T
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fa)
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79, Supposc the nth jerm of & series i 83. Caves, arches, stacks and stumps are

|
“’g*ﬁf'“‘h“mm e the landscape features of which one of

the following?
series, then the aum of the seriea is
equal o fa) River
fm) 1360
B 1450 & W
f# 1500 fo)  Limestone
i 1560

fdi Wind

80. How many different words, with or
without meaning, can be [ormed hy
using the lettern of the word COVID?

B4, Which ol the following stafements about

fa) 60 tropical min forests are correct?

150
i 1. The soils of tropical rain forests are
fe) 100 quite infertile.

120
fet) 2. The vegembDon Ia  evargesn,
enabiing photowmthesls to take
81. The widespread deaths due 1o starmtion place year sround.

and epidemics nre the characteristics of
A They have been described &

fa) famine ‘deserts covered by trees’,
® ! 4. They are most productive land-
fa il war based ccosywtem. .
fd) malnutrition
Salect the correct anmwer uning the code
82. The price declared by the Government VS o,
every year before the sowing season
to provide fmcentives to the farmers is faj 3 and % only
called
fa) buller price i 1,3 and 4 onfy
). weue price ) 1,2 and 3 enly
fe]  minigum suppbrt price
fd] fair sustenance price fl 1,2.3 and 4

JNMKE-F-BGS/6TA a9 | BT,
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85. In which one of the following salls, the

aalt content is o0 high that commaon salt
is obimined by evapornting the saline
water in some areas?

fa] Peaty soil
i) Alhavial sail
fe) Laterite wuoil

) Arid soil

86, Which of the following statements about

Akbher are cormeci?

1. i 1560w, Akbor had the Fort of
Agra construcied.

2. In 1570w, Akbar decided to build
a new capital at Fatehpur Silori

3 Akbar also commissioned a while
marble tomb of Shaikh Salim
Chishti at Sikri.

4. In 1685, Akhar decided to shift the
capital back to Agra.

Select the correct answer using the code
given below.

faj 1,2 and 4
b 1,2 and 3
fel 2.3 and 4

i 3 and 4 only

JNME-F-BGS/8TA 31

87. Which of the following stalemenls

about Amaranayakas of Vijayanagara
are correct?

1. The Amaranayakas were mfitary

commanders who were Even
ttrﬂtuﬂ_ﬂm;umuhyﬂ'uﬂlyn.

2. In lisu of their service and also
to mainiain thelr contingents, they
were paid in cash.

3. They  maintined  stipulated
contingents and elephamis

4. They used to send tribute o the
king annually -and personally
mppeared in the royal court with
gifis in express their loyaky.

Solect the correct answer using the code

given below.

fe) 1, 2 amd 3 only

f) 1. 3 and € anly

fey 2 and 4 only

f) 1,2, 3 and 4

B8. Which of the Mllowing pairs is/are

cormectly matched?
1. Permanent Settlement: Lord
Cornwallia

2. Ryotwari Settlement : Thomas
Munro
3. Mahalwari Settlement ; Helt
i Mad] :
Select the correct anower using the code
Eiven below,

fal 1 enly

i 1 and 2 anly
fe} 2 and 3 only
fd 1,2 and 3

| BT,
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#9. Who among the following assumed the

title of Nism-ul-Mulle Asal Jah 1o oot
himseH up an an independent ruler
with his base in Hydembad?

fa} Rartalab Khan

fb) Balmdur Shah

fel  Aliverdl Khan

fd) Chin Qilivh Khan

90. Which one of the following fundamental

rights hias not been provided o a
pernon?

fa] Protection agains! prosscution and
punishment for the same offence
mare than ance

fb} To refuse to give his/her sample of
handwriting an evidenee to suppar
a prosecution agaiomt him/her

fel Ta met as a wittess against
himaell/ herualf

fd] Right not to be convicted of any
offenice except for vielation of o law
in fores &t the thne of commission
of the set charged us an offence

91, The Constitutionn of India contains

no provislon for the constitution of
municipalitien i every State for

e} & Nagar Panchayni

b =& Municipal Council

4 & Mumcipal Corporation
{d} an Urban Panchayat

JNME-F-BOSSETA

92. Consider the following quote |

‘On the 26th January, 1950, we are
pning o enter & life af contmdictions,
In politics we will have eguality and n
smcial and economic life we will have
imeguality.”

To whom among the following leaders is
this quote stiributed?

fi) Mahatma Oandhi

b Sarejini Naidu

fe) B R Ambedkar

{d) Somnath Lahiri

93. Which one of the lollowing powers has

not benn conferred on the President of
Indin?

fu) Appotntment of Prime Miniater

fb) To decide at his/her discretion wny
guention reparding disqualification
of o Member of the Parlfament

fol. To grani pardon (o & person who
haa been punished by a court-
martial

fd) To remove a Judpge of the High
Court

94. Which one of the following statements

with regard o Manska Gandhi wa,

Umon of indic case, 1978 is not correat?

fa) It was held thet Aricle 19 and
Article 21 are not watertight
COMpaTtments,

bt It wes held that & law coming under
Article 21 may not  satisfy the
requirementn of Article 19,

el A fair triml ecliminates the binses
egainnt the sccusod in the tnal,

fd] The right to life under Article 21
deoes not include the right o die,

[ PT.0.



95, TF TR W Wepst W oEEm 10% s oa. wft frll wwm W a5, =H e & 27w A

5% @l 0 ¥ g ' b wE wm ar g 416 it ¥, o w v}
weps it fim § 20% Hie vEe Ae dizm 5200
B it Tl =g W siiwn gee e 2,000 , A
T X W e e A s N 30
W e s g fe} 3900

fd) 3328
fa) 2:8% %8

99, wm ®, wEw omigm W fefdie & 9

() 26% Wit Pt saren & = & e = A7
o) T fo i e

floy ottt
fd} 5-2% Wit je) = et

f) ikl e

96. Tl wanfn w1 2 =f & o 5% it o
“m:n#ﬂmﬁtm‘; 100 B A= s B i e b

¥ 250 % s ¥ T i Eﬁﬂﬂmmgwmnm:ﬁ
fa) ¥ 1,00,000 A o
) ¥ 80,000 (ereraw wdt) (=)
A, wagm L. wgn
¥ 40,000
i B, Wl 2. W
i) ¥ 1,20,000 ¢, o 3. Wi
D. = 4. fing
97. 75 mi weEne § e @ fiamn wmn =i ¥
Bk faen A sewtes B W 25%, 7 W2 & A B & D
1 3 2 4
T M A B € D
s 225 mi 1 2 A e
it A B €& D
foi 250 ml 4 3 2 1
(A B € D

JNME-F-BGS/8TA 34



95. A shopkeeper gives two consecutive 98. If 35% of & number is 416 more than
dlacounts of 10% and 5% respectively 27% of the same number, then the
on his itema. He then ndds 20% GST on number is
his tema. I an item has marked price

#2000 how much more or less of iy 5300
the actual price of the ltem a customer b} 2600
has to pay? &) 3900
fol  246% Jess fdl 3328
Fh.l' 99. In India, Cardamom Hilla are regurded ns
fej Bame price a continuation of the
fa) Eastern Chata
il jh) Mizo Hille
fe) Neaga Hills
96. ‘The difference of compound |nterest and fd] Western Ghata
aimple interest of 8 sum of money at
yoarn s
gﬂ-‘:;b;hﬂ:.ﬁ:hmﬁ:rmhi 100. Match Lint-] with List<ll and select the
: correct answer using the code given
fa) *1,00,000 below the Lists :
m‘ l mn
fl TBD.000 (il I Ve
fe) 40,000 A. Sutlsj 1. Yamina
B. Kosi 2. Brahmaputra
fd] 120,000 C. Teesta 3 G
. Chemiml & Iadus
97. How much water is to be added 10 75 ml Code :
of alcohal ao that the mixture contains
25% of uleohol? ' A B € D
1 3 2 4
M 100w m A B C D
i 2 | 4
i 225 ml = " - o
fe) 250 ml 4 3 a 1
fdl A B c #]
IIE.II 1251!.1 .q : 3 :
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101. wpA & Frafefie 8@ Shan wens 5 e
¥

fa) o (wta)
A
fep
fd) TR

102, Freffan 3 4 W9-W wewa o ot 4
fa) wR
w9
fe) R
i) =g

103, 4 whEwd § 9 dom F wmeam HgEw W
wer e s it =, e oem % wm
st s B
fmf TTER (e o)

(b T s (e )
fel =T W (FEEE W)
fef} T R (G )

104, v i ofk % B Faiaion 4 § o
& srTEm e b7

1, e

= Tawen wm T
w3 f v -
23 'C ¥R 25 *C A ® AW W
W (e ater)

4 fry e g2 W v e a e gE
fa) = 1, 3 a4

) a2, 34

fo) WEm 1 ol 2

) 1,2, 334

oo
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108, fadfm <8 w1 weew e weh s wd,

vedi %t o ww & of oy 37
fa) q-9m

) =

fe) W wiE

id) wERE S

106, Famafinfirs s wr firm fifim -

1w wiEE A e i
Fowem s SeEEe s wewwm
e & g 8 1934 7 wiim dfee
aid ) diw

2. 1536 A, WEGTA WE 3 s@E B
Gl CILREGE I R S R
w0 e ol afiw S A W
wnre fn)

Tiw S § # W wi
fal a7 |

fb) WA 2

fe) 1 32 oEl

M) AM L shada

107. 5/ &, vy & wofam =@ & S und)

wm W (T #w) anfm w8 W wiee
o omt

fa) wTR % fom whewef meeet % sy &
WO ==

) Tfem S B s W
fej WM B gETE ) W W
fef) i T (32T ) wfte s



101. Which one of the following is the oaly
rivering major part in/India?
fa). Mormugeo
) Deendayal
fei Kolkata

fell - Paradip

102. Which ons of the Inllowing is not n desert

Ei

104, Which of the following factors are needed
far the growth of corals?

1. Freahwater
. Clear shallow salt water :
3. Plenty of sunlight for photo-
wnthesis

4. Warm watcr between 23°C and
a5*C

Select the cormoct anuwer Usmng the code

given helow,

fal 1, 3 and 4 only

b 3, 3 and 4 only

fe) 1 and 2 only

ii 1,2, 3 and 4

JNME-F-BGS/6TA

108. Convection ciurents, which move the

tectonic pintes, are found in which layer
of the sarth?

fal Crost
i Mantle
&) Cuter core
fdi Inner core

106, Conalder the following statements ;

1. The growth of soclalist tendency
in the national movement led to
the foundation of the Congress
Soclalist Party in 1934 under the
leadeérahip of Acharvihn Narendrn
Deva and Jaynprakash Narsyan.

2, In 1936, Jawaharial Nehru urged
the Congress o accept socialinm
as its goal and tn bring (teelf closer
to the poasantry and the working
class,

Which of the stalements given above
in/Bre. correct?

fal 1 only
(b 2 enly
fef Both 1 and 2
fd). Neither | nor 2

107. Initially, whut was the purpess of

sciting up of the hill stations during
the eolonial perod in India?

fa)] To serve as winter capitals for the
Britiah

b To serve the needs of the British
BrImy

fa To source timber from forcats
fd) To set up sanatoria

| PT.0.



108. WR ¥ ¥ od & veaE @y

fa) FETETED W
(i) FumwE Ee
fc) TR

(d) AT T EH

109, 1741 o wife 16491 e & fereiee

mmmiﬂiﬁmm;
1. wm e

3. T TR R
3. e
4. R W

Ffain § & s Sl = Wl SO
wa-wm i

fa) 3-2-4-|
M 1234
& 3412

fd) 2-3-1-4

110, Tl wis w4 2w Fejn wis o @

w=g i B
fa) el
(b}
fep
fd) Sm
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111, §riz #nd swenged w6l Bw b | =i

2021 Fga 97
fa) WS
b W

el S

fd) e

112. ¥ 2021 4, 0 & g% & of E-100 @t

s (e drEee), Beafadm 4 @
Tiwwik zeomea afw e & wifim B9

jap Fiag SR
() AT
fe) T =
() WA

113. oy wiwm R, 2021 5 swmwm W,

faerinfem d 0 %0 w4 o Tom e
Fivww T ®¥

fa) TR
) ¥
i T
() =



108. Who among the following founded the 111, Volcane Mount Merapi, which erupted in
Dharma Sabtha? January 2021, ia situated in

) Krishne Mohan Banerjee

j) Thailand
it} Keshabh Chandra Sen
je) Radhakanta Deb b} China
fd} Akshay Kumar Dot i) Indonesis
109. Conmider the following Jat peasant o) Maidives
lenders of 1Tih and early 18th
eenturies |
1. Badan Singh 112. E-100 pllot projoct, lmunched n Pune in

June 2021, is related to the production

2. Raja Ram Jat s idateitnation of

3. Gokuila Jat
4. Churaman Jat jg) COVID vaccine
Which one of the following @ the correct M) ethansl
chronological order of the above
fe) electric vehicle
fal F=32-4-1 id) ]
o 2-34
fol 3—=-1-2
113. On the ocommon of fthe World
g Ay Environment Day, 2031, which one of
the following was declared as & NMational
Park b India?
110. Who among the following Bhaktl saints
did mot belong to Nirguna School of
Bhakti? fixf Raimarna
fa) Ksbir ) Orang
{2} Nanak
fgl  Dibru-Smikhown
foi. Dadu
jdl Chaitanya {d] Namen

JNME-F-BGS/8TA a9 | R T.0.



114, s oy R a (difgn i) @

Wi A % e g s dw g,
NI IsArady

fal W T
() e Al
fe) T ATEA

{d). Treivdy sirer

115, widls S g wv e el o i &

fevy i # it g ¥ m fe
o e fieg B9

fu‘I Ii Tite o
w)
fe) WETIGEY

fed) =9

116. fm 2 wm weE AWE [Tauktse)” #

s e nm n?
fexl ST
(b) FEWIR
fe) ST
) T
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117, pf-1 ot i & oW i i e

Tt % A fim 2 W . wh oo
¥
-1 Tt
(wtfiz-10 (=i ameit =m
= ftfrde) SR )
A ¥ 1. WA
B, &= 2. e
C. mm 3. fam
D. ¥ 4. THw
e
fix)

W o
= m
o
o

E
- >
M m
a0
=

118, WA S0 W T wEe wam e i

Pofiefern 4 & B g Fem o, e
v 5§ 2021 W) i

fa) T v o e
i) iy sy Pl afice
fe) e Tegom Rrend fafe
() e T famnd fefem



114, Who ameng the following has withdrawn 117. Match Lisi-] with List-ll and select the

fratn  the French Open Tennis correct answer using the code given
Tournamenl. 2021 in second round below the Lists :
after  controversy  over  media
abligatinna? List-J Lip-11
(Viariamt of (First identifled in)

iod Gttt CoVID-19)

A. Alpha [
(bl Serena Willisian B. Bem 2. Brozil

C. CGamma 3. Hritain
fe) Ana Bogdsn D, Delta 4. South Africs
.Fﬂ H-!I'III] I:iuh ﬁth:

@A B C D

115. Heron drones, Inducted by Indian s # E \
forces for enhancing their surveillance
capabilities, are acquired from M A B € D
1 2 4 3
fal LA
e A B 3 D
) Risal 1 4 2 3
fl A. B € D
- Tareo i 2 4 1
il Japan

118, Indian Coasl Guard Offshore Patol
Vensel Sajag’, which was commissionad

116, Cyclone “Taukise' was named by in May 2021, was constructed by

fa}  Muldives fa) M/s Bharati Shipyard Limited

fb)  Myanmar fa} M/s Cochin Shipyard Limited

o) Oman fel M/s Hindustan Shipyard Limited

feli tran fd] M/a Goa Shipvard Limited
JNMK-F-BGS/STA 41 | ET.0



119, Wi # <5 v A e &6 (S Yeem)
sty nfan e wfadh & seaw 0, fim
w3 Ee A & sl foid g @ 0

fa) W e R
By S e
¢ e TEEEE
fet) e i

120, frefafm § 4 B o= ow Af (N smim
oo wd waod e w0 gfEm TEee,
2020-21 F Wt s T R0
iy T wim
(b wiheETy
fe) W=
fel) e

121, Brafefyn 4 @ fR-m faw o s,
2021 % fawm (dm) BT

i) T s & fe e
b e Wi by Sl
fe) el mpwE

d) T T W

122, wfmM STEE (Chandler] 8 fade T
(e e e apgy & vim ¥ - e
we g ¥, W oared el sl R W
wad § 104 W W it o A

fuj gl
(b Sel
fe) GFE
fd) 7oAl
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o) Frewte
by wEE
fe suiedn Fefrta
) g R

124. Fefarfm & @ fon foen @ 670 o faem

SRR (WARTE), 2021 3 gt Hiww &)
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fa) SrnfE grean
fby T WAEE
fe) v iftam
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fa) I WA T
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118, Who among the following was the Head

of the Expert Committee on Variable
Capital Company in India which has
submitted its report recently?

fa) K- P. Krishom
(& EKetan Dalal

fel J. Ranganmynkulu
(d) Bsbby Parikh

120, Which one of the following States ranlked

first on Sustainable Development
Gonl India Index. 2020-21 released by
NITT Asyvog?

fa) Himachal Pradesh
&) Tamil Nadu

fel Kemila

) Goa

121. Which one of the following is the theme

of the World Ovean Day, 20217

fa) Innowation for a Sustsinable Ocean
) The Ocean : Life and Liveliboods
fo  Gender and Oceanns

f) Clean Our Opeans

122, In the latesi Chamdler Good OQovernment

Index (CGGY, which classifiea 104
countrics m terma of govemment
cupabilities and outcomes, Thdin has
beer mnked

fa)  #9ih
M 59th
fel E9th
(d T9th

JNME-F-BOB/6TA

133, Scientists st CSIR-NCL Pune, with

suppart from the Water Technology
Initistive of the Department of Science

und Technology (DST), Government of
India, have recently developed a novel
hybeld  technology o bring safe and
healthy drinking water, What is the
name of the hybrid technology®

fa} SafeWater

fb) SWASTIR

e} Arsiron Niogan

e}  Flugride Nilogon

134. Which one of the following filmas has won

the Best Filma Award b Ednvirooment
Censervation category at the 67th
National Film Awmrds, 20217

fr) JSoraki Porua
Ml B Kok
fe) Water Burigl

128. Which one of the fllowing books

wan declared winner of the 2021
Imﬂ'rmhmiﬂu_ﬁtrlirh?

fal Al Night All Blood w Black

(i The Dangars of Smoking in Hed

el When We Cense tn Understemd the
World

(d] The Wer of the Foor

| PT.0.
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